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Question Shuffling Allowed : No

Question Id : 342123617 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix
Question Numbers : (1 to 5)

Question Label : Comprehension

The following table shows the percentage (%) distribution of students in M. Tech. (Computer
Science) class, who got employment in the areas of Hardware, Software Quality Assurance
(SQA), Software Development and others during the five years from 2019 to 2023, alongwith the
average starting salaries of students per month (in Rs.) in these areas during the same years. The
total numbers of students who passed out in the years 2019-2023 are 800, 600, 1100, 1200, and
1000, respectively. Based on the data in the table, answer the questions that follow

Emplovment — Area wise details of students
2019 2020 2021 2022 2023
EmploymentArea | 1| o 1| 1 [1]| ¢m [1| @ |1| T

%l T (%] T [%] T %] T || %

%o %o 0 %o 0
Hardware 22154500( 1763800 (2317550019 {8920032 (98100
SQA 36{51700 |48 (6390043 [ 76300{37 (89600 32102200
Software Development [ 1913290023 [ 64400 (217030016 | 77600 [ 20 [ 86400
Other 2342600 112{50900 )13 {60200 |28 [66400| 16| 73400

Where I represents percentage distribution of students who got employment and II represents the
average starting salary of students per month (in ¥)

Sub questions

Question Number : 1 Question Id : 342123618 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In all the five years, the number of students getting employment in Hardware is
less than the number of students getting employment in SQA.

1. 826
2. 630
3.734

4. 548



Question Number : 2 Question Id : 342123619 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What is the percentage increase in the average starting salary (per month) of employment in
Hardware in the year 2023 with reference to the year 2019?

1. 60%
2.32%
3.96%
4.80%

Question Number : 3 Question Id : 342123620 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What is the average monthly salary offered to an M. Tech. (Computer Science) student in 20207
1. 160750
2.363300
3.763333

4.364030

Question Number : 4 Question Id : 342123621 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In 2021, students getting employment in Hardware earned ¥ lakhs more than those
getting employment in Software Development (per annum).

1.430
2.33792
3.284.12
4.3243

Question Number : 5 Question Id : 342123622 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



The average monthly salary offered to an M. Tech (Computer Science) student in 2023 is
approximately % more than that in 2022.

I:12:47
2.17.14
3,25

4.543

Question Id : 342123617 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (1 to 5)
Question Label : Comprehension
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Sub questions

Question Number : 1 Question Id : 342123618 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



1 U 98T H, TS H ISR 1 e et el ol et TH 9 T H oIk U1
B el faemial 3 gem g BHg|

1.826
2. 650
3.734
4. 548

Question Number : 2 Question Id : 342123619 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

9 2023 W BISdR & & H AR U1 3 el & RIS (i) de #2019 B
i1 | febed Wi 9 g3 6o

1. 60%

2.32%
3.96%

4.80%

Question Number : 3 Question Id : 342123620 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

4. 3 (R fagH) faardf ol 99 2020 T Ued Sed TS do fdar g2
1. 260750
2.2.63300
3.263333

4.3 64030

Question Number : 4 Question Id : 342123621 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1.430
2.337.92
3.284.12
4.3243

Question Number : 5 Question Id : 342123622 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

T ¢ (e faq) o faepell o1 o 2023 1 e Sl Tl dei 9 2022 T SfUe
GuEly % iU g

1.12.17
2.17.14
3.25
4.543

Sub-Section Number : 2
Sub-Section Id :

Question Shuffling Allowed :

34212326
Yes

Question Number : 6 Question Id : 342123623 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The number of digits an individual can report back without error in a single presentation
represents

L. chunking
2. memory span
3. phonological loop

4. Time Zone

Question Number : 6 Question Id : 342123623 Question Type : MCQ Option Shuffling : No



Correct Marks : 2 Wrong Marks : 0
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1. i
2. Wi afy (&)
3. GG (HGID) 0

4, T &7

Question Number : 7 Question Id : 342123624 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

A history teacher wants to create an interactive timeline showcasing the evolution of different art
movements over centuries? Which tool would best support the creation of this multimedia
presentation?

|. Prezi
2. Adobe Illustrator
3. Flipgrid

4. Google forms

Question Number : 7 Question Id : 342123624 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 8 Question Id : 342123625 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

A collection of the student's work in an area, showing growth, self reflection, and achievements is
known as:-

I. Modelling
2. Portfolio
3. Mastery goal

4. Problem solving

Question Number : 8 Question Id : 342123625 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 9 Question Id : 342123626 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match the List-I with List-II

LISTI LISTII
Swayamprabha Channel No. Theme
A | Channel 03 (PRABODH) 1. |Education and Home Science
B. |Channel 04 (SAARASWAT) | II. |Information, Communication and Management Studies
C. | Channe] 05 (PRABANDHAN) | III. |Law and Legal Studies
D. |Channel 06 (VIDHIK) IV. | Social and Behavioural Sciences

Choose the correct answer from the options given below:
1. A-IL, B-IV, C-III, D-1
2. AL B-L, C-IV, D-II
3.A-IV,B-I, C-I1, D-III

4. A-1, B-II, C-II, D-IV

Question Number : 9 Question Id : 342123626 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Al 1D 1Y Gt 11 T e Sifse
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A | 999 03 st I | IR e o

B. |dHd 04 FRWED) | 11 |1, T9R AR e &g
C. |=29d 05 (WEeH) | 1L | A 3R fafs srema

D. |99d 06 (f@fE® | Iv. | 9MIG® 3R 9eR e f[age

i fqu U fasedl H U ol 3R &1 999 Hifv:

1. A-IT, B-IV, C-III, D-I

[

. A-IITL, B-1, C-1V, D-1I

(5]

SA-IV, B-1, C-II, D-III

4. A-1, B-11I, C-1I, D-1V

Question Number : 10 Question Id : 342123627 Question Type : MCQ Option Shuffling : No



Correct Marks : 2 Wrong Marks : 0

Match the List-I with List-IT

LISTI LISTII

Term Meaning

A |Decistonmaking | I [The tendency to hold on a belief in the face of contradictory evidence.

The tendency to have more confidence in judgement and decisions than we

o |Gotimiiion bia | 2 should based on probability.

C Beltef m The tendency to search for and use information that supports our 1deas
" | perseverance " | rather than refuses them.

D Overconfidence

Nbias IV. | Evaluating alternatives and making choices among them.

Choose the correct answer from the options given below:

1. A-IL B-1V, C-II, D-I
2. A-IL, B-III, C-IV, D-1I
3. A-IV, B-IIL C-I, D-II
4. A-L B-II, C-IV, D-III

Question Number : 10 Question Id : 342123627 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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[. A-IIL B-1V, C-11, D-1
2. A-IL, B-III, C-IV, D-I
3.A-IV,B-IIL C-I, D-II
4. A-L B-IL C-IV, D-III

Question Number : 11 Question Id : 342123628 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following research approaches suggests that theory is an outcome of research?

. deductive approach
2. inductive approach
3. quantitative approach

4. cross-sectional approach

Question Number : 11 Question Id : 342123628 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 12 Question Id : 342123629 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

When the sample has been randomly selected, which among the following may be expected in
cross-sectional research designs?

A. strong external validity
B. weak external validity
C. weak internal validity
D. strong internal validity

Choose the most appropriate answer from the options given below:

l.OnlyAand C
2.0nlyAand D
3. OnlyBand C

4.OnlyBandD

Question Number : 12 Question Id : 342123629 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 13 Question Id : 342123630 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

If you want to understand the theoretical reasons that led researchers to conduct a study that

appeared as a research article in a journal, you would read which of the following sections of the
research article?

1. discussion
2. abstract

3. introduction
4. results

Question Number : 13 Question Id : 342123630 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 14 Question Id : 342123631 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The students' t-test would be useful for?

A. comparing two groups to see whether their means differ.

B. comparing multiple groups (more than two) to see whether their means differ.
C. testing the significance of correlation coefficient.

D. testing the significance of regression coefficient.

Choose the most appropriate answer from the options given below:

1.Only A, Band C
2.0nlyBand D
3.0nlyA,Cand D
4.0nly A,B.Cand D

Question Number : 14 Question Id : 342123631 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 15 Question Id : 342123632 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Identify the probability sampling techniques?

A. simple random sampling
B. snowball sampling

C. stratified random sampling
D. convenience sampling

Choose the most appropriate answer from the options given below:

l.Only Aand B

[

.OnlyBand C

L

.Only Aand C

4.Only B and D

Question Number : 15 Question Id : 342123632 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1. hdd A 3R B
2. HIAB 3R C
3. hAd AR C

4. HadB AR D

Question Number : 16 Question Id : 342123633 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Description of “actual words, written or spoken, used to tell a story” and images or pictures come
under the category of

1. Discourse
2. Event
3. Law

4. Performance

Question Number : 16 Question Id : 342123633 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



ot gt 3R forat a1 fafaral &1 Fovl e & fou v fopw 7w forfad a wife®
Rl Yeq] &I qUiF fafeiiRad 4ull # 37l &:

1. Ot
2.9cHl
3. fafy

Question Number : 17 Question Id : 342123634 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The general context of communication is known as communication -

. situation

—

2. position

[

. praxis

4. convention

Question Number : 17 Question Id : 342123634 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 18 Question Id : 342123635 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which of the following are essential elements of mass communication?

A. Electronic observation

B. Technological medium

C. Large audience

D. Professional communicators
E. Organizational structure

Choose the most appropriate answer from the options given below:

1.Only A.B.E

I3

.OnlyA.C.D

(s

.Only A,C.D.E

4.0nlyB,C,D,E

Question Number : 18 Question Id : 342123635 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 19 Question Id : 342123636 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which of the following, in communication, are the rhetorical structures’?

A. paralanguage
B. clusters

C. form

D. genre

E. narrative

Choose the most appropriate answer from the options given below:

l.Only A,B.C,D

[

.OnlyB,C.D.E

LS

.OnlyA,C.E

J_:_'

.OnlyA, D, E

Question Number : 19 Question Id : 342123636 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 20 Question Id : 342123637 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match the List-I with List-IT

LISTI LISTII
Patterns of Communication Social Unit
Phyvsical situation 1. | Participants
Persons involved in interaction II. |Key

Manner of communication enacted | I1I. | Instrumentality

olo|w|»

Channels of communication IV. | Scene or setting

Choose the correct answer from the options given below:

1. A-I, B-II, C-IIL, D-1IV

b3

. A-II, B-II, C-IV, D-1

sl

- A-IILL B-1V, C-1, D-II

4+

. A-IV, B-1, C-II, D-III

Question Number : 20 Question Id : 342123637 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1. A-I, B-II, C-III, D-IV
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[
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(5]

CA-IL B-1V, C-1, D-II

4. A-1V, B-1, C-II, D-III



Question Number : 21 Question Id : 342123638 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Working 9 hours a dav. 12 persons complete a work in 25 days. Working 6 hours a day, 15
persons can do the same work in

1. 28 days

]

.29 days
3. 30 days
4. 32 days

Question Number : 21 Question Id : 342123638 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 22 Question Id : 342123639 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In the letter series, some of the letters are missing. Complete the given letter series by choosing
the correct alternatives from the options given below.
b b bb bbb bb b

l.bbbbba

2.bbaaab

3.ababab

4.aabaab

Question Number : 22 Question Id : 342123639 Question Type : MCQ Option Shuffling : No



Correct Marks : 2 Wrong Marks : 0
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b b bb bbb bb b

I.bbbbba
2.bbaaab
3.ababab

4.aabaab

Question Number : 23 Question Id : 342123640 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

Three successive discounts of 30% on the marked price of an item are together equivalent to a

single discount of
1. 90%
2.27%
3.65.7%

4.78.2%

Question Number : 23 Question Id
Correct Marks : 2 Wrong Marks : 0

: 342123640 Question Type : MCQ Option Shuffling : No

fo el o b 3ifhel et W 30% BT A Bl 92T Tebed B0 1 Fgifchd A G fobeT Ut g
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1.90%
2.27%
3. 65.7%

4.738.2%

Question Number : 24 Question Id
Correct Marks : 2 Wrong Marks : 0

: 342123641 Question Type : MCQ Option Shuffling : No



In a certain coding language, if the word *STORK is coded as “VQRON”, then the word
"TIRED’ will be coded as

1V EEGE
2.WFUBG
3. WETCEG

4 VFUBF

Question Number : 24 Question Id : 342123641 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

U % Beeia HIN H, 65 *STORK ®I “VQRON® Y fed [l Tl ¢, d Tea
“TIRED"®I &< BI1I|

I VEELCE
2.WEUBG
3.WETCG
4 VFUBEF

Question Number : 25 Question Id : 342123642 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

A person travels from X to Y at a speed of 50 kmv/hr and returns from Y to X by increasing his
speed by 50%. His average speed during the journey is

1.62.5km/ hr
2,60 km/ hr
3.62km/ hr

4.64 km / hr

Question Number : 25 Question Id : 342123642 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



U aAfad 50 foelt/ ST I TG A X Wy T T 2l © 9 50% S A Wy ¥ X 0
U ST 1 TE o IR e 11t g
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Question Number : 26 Question Id : 342123643 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

“Molecules are in random motion. Qutub Minar is composed of Molecules. Therefore, Qutub
Minar is in constant random motion.” Identify the fallacy committed in the above statement.

1. Equivocation
2. Slippery slope
3. Hasty generalization

4. Fallacy of composition

Question Number : 26 Question Id : 342123643 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 27 Question Id : 342123644 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



If the statement “Some birds are not mammals” is given as true, which of the following
statements can be immediately inferred to be false?

1. Some mammals are not birds.
2. Some birds are mammals.
3. No birds are mammals.

4. All birds are mammals.

Question Number : 27 Question Id : 342123644 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 28 Question Id : 342123645 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which of the following statements are logically equivalent?

A. Some non-birds are mammals.

B. Some birds are not mammals.

C. Some non-mammals are non-birds.

D. Some non-mammals are not non-birds.

Choose the most appropriate answer from the options given below:

1. A, B and C Only

[

. A and C Only

(5]

. C and D Only
4. B and D Oanly

Question Number : 28 Question Id : 342123645 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 29 Question Id : 342123646 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which of the following is correct in the context of Syllogism?
A. With two negative premise; affirmative conclusion can be drawn.
B. Predicate of the conclusion is the minor term.
C. Middle term must be distributed at least once in the premises.

D. With two universal premises, particular conclusion can be drawn.
E. The term distributed in the conclusion must be distributed in the premises.

Choose the most appropriate answer from the options given below:

1. B and C Only
2. Aand C Only
3.D and E Only

4. C and E Only

Question Number : 29 Question Id : 342123646 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Correct Marks : 2 Wrong Marks : 0



According to classical Indian school of logic (Nvava) which fallacy is committed in the following
argument “Anything that is thinkable is nameable because it is thinkable™.

|. Asadharana
2. Saadharana
3. Asrayasiddha

4, Svarupasiddha

Question Number : 30 Question Id : 342123647 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 31 Question Id : 342123648 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following electronic technologies is the key technology for making the first
generation electronic computer?

1. Transistor based
2. Integrated Circuit based
3. Vacuum Tube based

4. Dual Core CPU based

Question Number : 31 Question Id : 342123648 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 32 Question Id : 342123649 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following statements best describes a blog?

I. A website that allows multiple users to collaborate and create information.

2. A chronological list of posts on a website typically written by a single author about a
subject.

3. A series of audio or video episodes that subscribers download or stream to their devices.

4. A standardised format that allows users to subscribe to view content updates from a creator.

Question Number : 32 Question Id : 342123649 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 33 Question Id : 342123650 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

[dentify the sequence of words A-E that correctly fills the blanks in the following paragraph:

The is the “brain’ of the computer and the processor made by Intel is an
example of this. The speed of the processor is measured in is a volatile
memory whereas 15 used in most computers to hold a smal[ special piece of software

known as the *boot up’ program,

A.ROM
B.CPU

C.RAM
D. Pentium

E. Hertz

Choose the most appropriate answer from the options given below:

.B,D,E.C,A

2.D,/B,C.EA

3.C,D,EAB

4.B,E,D,A,C

Question Number : 33 Question Id : 342123650 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 34 Question Id : 342123651 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

If (L) represents a number L in base-M number system, then which of the following equalities

are true?

A. (127.125)9= (1111111.001),
B. (127.125);0= (1333.02),

C. (127.125)p=(177.1)g

D. (127.125);= (TE2)s6

Choose the most appropriate answer from the options given below:
I. Aonly
2. Aand B only
3.A,Band C only

4.A,B,CandD



Question Number : 34 Question Id : 342123651 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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A. (127.125)10=(1111111.001),
B. (127.125)9 = (1333.02),

C. (127.125)19=(177.1)g

D. (127.125)19 = (TE2)y¢
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Question Number : 35 Question Id : 342123652 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match the List-I with List-II

LISTI LISTII
(Malware types) (Characteristics)
A |Trojan Horse [. |Propagates copies of itself through a network

Worm II. | Triggers action when certain condition occurs

B
C. |Logic Bomb I1I. | Hooks standard OS calls to hide the existence of malware
D

. | Rootkit IV. | Contains unexpected covert effect

Choose the correct answer from the options given below:
1. A-I, B-1V, C-II, D-TI
2. A-IV, B-11, C-1, D-III
3. A-IL, B-I, C-1IL, D-IV

4. A-IV, B-1, C-1I, D-III



Question Number : 35 Question Id : 342123652 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Tl 1 91y T 11 &1 el difere

I it
vy e
A |3 e 1 |Heas & Ty § Wy o] wiafiiia sl &ed 8
B. |aid I |ofiu Rufogl & wfed i W pw Saw s e
C
D

|dfsesr | o |Aem S i o1 TR & R are off T oTd ol g e e
. |efee IV. |39 SFUIE T TTE SHE &

i 6 T fqweul 4 U WEY SR &1 959 I
1. A-L, B-IV. C-IIL, D-II
2. A-IV, B-1I, C-1, D-III
3. AL B-L, C-IIL D-IV

4. A-IV, B-L, C-II, D-III

Question Number : 36 Question Id : 342123653 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The convention of Biological Diversity (CBD) was first opened for signature during

1. Conference on human environment
2. Earth Summit
3. Montreal Protocol

4.COP1

Question Number : 36 Question Id : 342123653 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 37 Question Id : 342123654 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

To understand the Global Climate Change, GCM model are widely used. GCM stands for

A. Global Circulation Model
B. General Circulation Model
C. Global Climate Model
D. General Climate Model
Choose the most appropriate answer from the options given below:
|.Only Aand B
2.0nlyBand C
3.0nly CandD

4.OnlyAand D

Question Number : 37 Question Id : 342123654 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 38 Question Id : 342123655 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Dissolved Oxygen (DO), a water quality parameter, is essential in which of the following water
bodies/sources?

A. River Water
B. Lake Water
C. Tap Water
D. Underground Water
E. Pond Water
Choose the most appropriate answer from the options given below:
I. A, BandE Only
2.Cand D Only
3.B.D and E Only

4.A,C,DandE Only

Question Number : 38 Question Id : 342123655 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 39 Question Id : 342123656 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In a breeder reactor

1. More fissile materials are produced than it is consumed

I3

. Less fissile materials are produced than it is consumed
3. Neutrons are slowed down by moderator

4. U-238 a fissile material 1s produced from Pu-239 a fertile material.

Question Number : 39 Question Id : 342123656 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 40 Question Id : 342123657 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

When a water body becomes extremely low in nutrient content, then it is called as
1. Dystrophic
2. Oligotrophic
3. Mesotrophic

4. Eutrophic

Question Number : 40 Question Id : 342123657 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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An important feature of the third five year plan was

1. Abolition of Education Commission.

2. Reduction in the number of colleges

(el

. Setting up examination research units in some universities

4. More emphasis on open book examination.

Question Number : 41 Question Id : 342123658 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 42 Question Id : 342123659 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The National Education Pollicy, 2020 aims to create

1. fragmented universities

[

. online universities

(]

. knowledge hubs

4. corporate clusters of education

Question Number : 42 Question Id : 342123659 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 43 Question Id : 342123660 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Dr. Baba Saheb Ambedkar was associated with:

A. Presidency College, Kolkata
B. Khalsa College. Mumbai

C. Siddharth College, Mumbai
D. Milind College, Aurangabad
E. National College, Bengaluru

Choose the most appropriate answer from the options given below:

1.Only A, B, C

[

.OnlyB,C,D

L]

.Only C,D.E

4.0nlvA.D.E

Question Number : 43 Question Id : 342123660 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 44 Question Id : 342123661 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following universities were multi-disciplinary in ancient India?

A. Banaras Hindu University
B. Takshashila
C. Nalanda

D. Vallabhi
E. Vikramshila

Choose the most appropriate answer from the options given below:

1.OnlyA.B.C

]

.Only A, C,E

Lo

.OnlyA,D.E

4=

.OnlyB,C,D,E

Question Number : 44 Question Id : 342123661 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 45 Question Id : 342123662 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The National Education Policy, 2020 recommended the integration of humanities at the
undergraduate level with subjects of

A. Science

B. Technology

C. Engineering
D. Mathematics

E. Propaganda techniques

Choose the most appropriate answer from the options given below:

.OnlyA,B.C,D

2.0nlyB,C.E

3.0nlyA,C,D.E

4.OnlyA,B,D.E

Question Number : 45 Question Id : 342123662 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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A. K. Ramajujan was one of those thinkers, like Freud (whom he greatly. though not uncritically,
admired), who so transform our way of looking at a subject that we are in danger of undervaluing
their contribution, since we have come to take for granted precisely what they taught us, as we
view the subject through their eyes. At a time when the American Indo-logical establishment
regarded native Indian scholars merely as sources of information about language and texts, like
the raw fiber that were taken from India to be processed in British mills, but seldom as scholars
who might have their on ideas about how to process those texts, Raman taught them all how to
weave a theory, a folktale, a poem, a book. Raman taught the all how to weave a theory, a
folktale, a poem, a book. Long before it was politically respectable, let alone politically correct,
to study the works of women or of “illiterate” peasants, Raman valued their poetry, their stories
and their counter-systems. At a time when Indian literature meant Sanskrit, and Sanskrit meant
Greek and Latin, Raman arrived in Chicago to join Edward C. Dimock and the other “founding
fathers’ in proclaiming to the world the relevance of Tamil and Bengali and the other mother
tongues. Without so much as raising his gentle voice, he blazed a great path through the centre of
Indological studies. He gave us so many new paradigms that no Indologist can now think about
India without thinking through his thoughts

Sub questions

Question Number : 46 Question Id : 342123664 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Who 1s A.K Ramanujan compared to in the text?

1. Chomsky

[

. Sigmund Freud

. Brunvand

LS

4. British Mill Owners

Question Number : 47 Question Id : 342123665 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What did Ramanujan teach in America?

1. Process raw fibers in British mills

[

. Weave theories, folktales, poems and books
3. Only Sanskrit literature

4. Only English Literature



Question Number : 48 Question Id : 342123666 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The languages that Ramanujan tried to bring to limelight in Indological studies is

1. Greek and Latin
2. Only Sanskrit
3. Tamil, Bengali and other mother tongues

4. French and German

Question Number : 49 Question Id : 342123667 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Ramanujan emphasised on

L. The criticism on the British mills

3

. Creating controversies in American Indological Studies

L

. A path through Indological Studies

4. The study of Western languages only

Question Number : 50 Question Id : 342123668 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Who were the ‘Founding Fathers’ that Ramanujan joined in Chicago?

1. British Mill Owners

[-2

. American Indo-logical establishment leaders

. Edward C. Dimock and others

L

4. Greek and Latin scholars

Question Id : 342123663 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (46 to 50)
Question Label : Comprehension
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Question Number : 46 Question Id : 342123664 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Correct Marks : 2 Wrong Marks : 0
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Question Number : 51 Question Id : 342123669 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

With regard to the quantum efficiency of a Photodiode, which of the following is not correct?

. The depletion region must be kept thin to reduce the transit time.

2. The depletion region must be sufficiently thick to allow a large fraction of incident light.

3. Germanium Photodiodes & Group III-V Photodiodes have high quantum efficiency

4. Silicon Photodiodes can reach 100% quantum efficiency near the 0.8-0.9 [m region with an

antireflection coating,

Question Number : 51 Question Id : 342123669 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0



With regard to the quantum efficiency of a Photodiode, which of the following is not correct?

. The depletion region must be kept thin to reduce the transit time.

2. The depletion region must be sufficiently thick to allow a large fraction of incident light,

3. Germanium Photodiodes & Group ITI-V Photodiodes have high quantum efficiency

4. Silicon Photodiodes can reach 100% quantum efficiency near the 0.8-0.9 jum region with an

antireflection coating,

Question Number : 52 Question Id :

Correct Marks : 2 Wrong Marks : 0

342123670 Question Type : MCQ Option Shuffling : No

Compared with the GaAs and InP based HBTs, the Si/SiGe HBT has a lower cutoff frequency

because of :

1. Lower mobilities in Si
2. Higher mobilities in Si
3. Lower mobilties in Ge

4. Higher mobilities in Ge

Question Number : 52 Question Id
Correct Marks : 2 Wrong Marks : 0

: 342123670 Question Type : MCQ Option Shuffling : No

Compared with the GaAs and InP based HBTS, the Si/SiGe HBT has a lower cutoff frequency

because of :

1. Lower mobilities in Si
2. Higher mobilities in S
3. Lower mobilties in Ge

4. Higher mobilities in Ge

Question Number : 53 Question Id
Correct Marks : 2 Wrong Marks : 0

: 342123671 Question Type : MCQ Option Shuffling : No



The band gap of a semiconductor material that can be considered for making solar cell will be
l.<1eV
2. Between2 & 3 eV
3. Between | &2eV
4.=3eV

Question Number : 53 Question Id : 342123671 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The band gap of a semiconductor material that can be considered for making solar cell will be
l.<1eV
2. Between 2 & 3 eV
3. Between 1 & 2eV
4.>3eV

Question Number : 54 Question Id : 342123672 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

A silicon sample is doped with 101° Arsenic atoms/cm’. What is the equilibrium hole
concentration P, at 300°K if the intrinsic hole & electron concentration is

{}m atc-nls.-"-::nl?"

n=15%1
1. 1.5% 100 em’
2.225 % 1010 e
3.325 x 1019 ¢m™
4,425 x 101 em™

Question Number : 54 Question Id : 342123672 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



A silicon sample is doped with 101 Arsenic atoms/cm’, What is the equilibrium hole
concentration P, at 300°K if the intrinsic hole & electron concentration is

n;=1.5x 10'° atoms/em™

1.1.5 %100 em

3.3.25 % 1010 e

4.425 x 1010 e

Question Number : 55 Question Id : 342123673 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The most important requirement of an effective metallization scheme in VLSI is that metal must
adhere to the silicon in the window & to the oxide that defines the window. In this respect, which
of the following metals in unlikely to be used directly on S10,?

1. Al
2.Ti
3.Ta

4. W

Question Number : 55 Question Id : 342123673 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The most important requirement of an effective metallization scheme in VLSI is that metal must
adhere to the silicon in the window & to the oxide that defines the window. In this respect, which
of the following metals in unlikely to be used directly on S10,?

[.Al

A Ta

4. W
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Correct Marks : 2 Wrong Marks : 0

During the oxidation process, which of the following statements is not correct?

. The rate constant for wet oxidation of silicon increases with decreasing temperature.

2. The wet oxidation is governed by the equation Si + 2H,0 — Si0, + 2H,

3. For a growth of an oxide of thickness *d’, a layer of silicon with thickness of 0.88d is

consumed.

4. During the oxidation process, the Si - Si0, interface moves into silicon.
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During the oxidation process, which of the following statements is not correct?

. The rate constant for wet oxidation of silicon increases with decreasing temperature.

2. The wet oxidation is governed by the equation Si + 2H,0 — Si0, + 2H,

3. For a growth of an oxide of thickness *d’, a layer of silicon with thickness of 0.88d is

consumed.

4. During the oxidation process, the Si - S10, interface moves into silicon.

Question Number : 57 Question Id :

Correct Marks : 2 Wrong Marks : 0
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In a charge coupled device, the charge storage and transfer action is controlled by one of the

following :

1. Drain Electrode
2. Gate Electrodes
3. Source Electrodes

4. Back of the Substrate

Question Number : 57 Question Id

: 342123675 Question Type : MCQ Option Shuffling : No
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In a charge coupled device, the charge storage and transfer action is controlled by one of the
following :

1. Drain Electrode
2. Gate Electrodes
3. Source Electrodes

4. Back of the Substrate
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Correct Marks : 2 Wrong Marks : 0

In crystal growth, the doping concentration in the crystal C, is given by :

Kol
CE;.:K'U("U [l“ M J
M

0
where K, = equilibrium segregation coefficient

C, = nitial doping concentration in the melt

M, = initial weight

M =Weight of the grown crystal

As crystal growth progresses, the composition initially at K,C, will increase continually for -

1.Ky<1
2.K,> |
3K =t
4.K,=0
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In crystal growth, the doping concentration in the crystal C, is given by :

Kol
CS:KUCU [l“ v J
M

0
where K, = equilibrium segregation coefficient

C, = initial doping concentration in the melt

M, = initial weight

M = Weight of the grown crystal

As crystal growth progresses, the composition initially at K C, will increase continually for -

1.K,<1
2.K,> |
3K
4.K,=0
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Find 1, and i for the given circuit using the superposition theorem :

202 40

6V (D (D N <:> %,

[

3.1,= 1.25A,1=0.25A

4.i,=0.15A,1= 1.15A
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Find i, and 1 for the given circuit using the superposition theorem :

0 i
— AW AV
20 402

O,

(]

Question Number : 60 Question Id : 342123678 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Using Mesh analysis find current Iy, for the circuit given below :

——AVWA 1]
13V

= 6 | () :
= , T ﬁ.ﬁi.

I

1. 3A

(]

. 6A
3.4A

4. TA
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Using Mesh analysis find current 14, for the circuit given below :

—AMA 1]
13V

60 () ;
65V (1,—) 50 § :

1. 3A

[

. 6A
3.4A

4. 7TA

Question Number : 61 Question Id : 342123679 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

For the given circuit, the maximum power delivered to the load shall be :

AMWW—— = —~
th

6 £

]
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For the given circuit, the maximum power delivered to the load shall be :

ANMN— = >
l{lh

Vi CD % Ry

I3
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For the given circuit, the Thevenin's Equivalent circuit at a — b will be :

o h

AV oa
3 100

ks C) Y

O b

I:*J
—O
o
<
)
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For the given circuit, the Thevenin's Equivalent circuit at a — b will be :

o h

AV oa
3 100

ks C) Y

O b

I:*J
—O
o
<
)
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An operational amplifier as shown below has a poor open loop voltage gain of 45 but otherwise it
is ideal. Find the closed loop gain of the amplifier.

20k
MW

5kQ

3.4.5

4.4
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An operational amplifier as shown below has a poor open loop voltage gain of 45 but otherwise it

is ideal. Find the closed loop gain of the amplifier.
20k

MWW

5kQ

3.45

4.4
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The operating point for the given transistor circuit is

7 +10V
Rc = 2kQ
R
mﬂiﬂt B=100
500k Ve =0.7V

—a

.(6V,3mA)

(i)

.(10V, SmA)

(el

.(3V, 2mA)

4.(6.28V, 1.86mA)
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The operating point for the given transistor circuit is

? +10V
Re =2kQ
R
m:* B=100
500k Ve =07V

—

.(6V, 3mA)

[

.(10V, 3SmA)

(5]

. (3V, 2mA)

4. (6.28V, 1.86mA)
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The bridge rectifier circuit as shown below has the following parameters : V; =30V, Ry = 3000

and the diodes have Vi =0.7V. The peak output voltage and peak output current value is

1. 30V, 100mA

2.42.42V, 141.4mA
3.41V, [37TmA
4.28.6V,95.33mA
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The bridge rectifier circuit as shown below has the following parameters : V; = 30V, Ry = 3000

and the diodes have Vi = 0.7V. The peak output voltage and peak output current value is

1. 30V, 100mA

2.42.42V, 141 4mA
3.41V, 137TmA

4.28.6V, 95.33mA
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The voltage gain for the given common source FET circuit is
O "'f'rljl_j =+ 251\':

R, —5-:31»15% Rp=2-7kQ
e —o

| -

—) Il a7 L3

FET 2N5457 Parameters:
Yoe =10 puS , Yg = 3000 uS

1.3
i I £
3.2.54
4.5
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The voltage gain for the given common source FET circuit is
O "f'rl]l] =+ 25‘\"‘

R, —5-6MQ% Rp =2-7ke)
—0
IlI Jo) G

]
Ry % R, § T G

&
=1M102 =2.7k{}

Vg

FET 2N5457 Parameters:
Y5 =10 puS , Yg, = 3000 pS

{23
o S £
3.2.54
4.-5
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The following serial data is applied to the Flip Flop shown below. What will be resulting serial
data that appear on the Q output? There is one clock pulse for each bit time, also assume that the,
Q is initially 0. The right most bits are applied first.

J;= 10110110

J, = 11011001
K;=10010110
K,=11011011

JJ!I: — ) Q—
—C

K, .

(— D X oF—

L. 011100000
2.000011100
3. 101001000

4. 110100100
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The following serial data is applied to the Flip Flop shown below. What will be resulting serial
data that appear on the Q output? There is one clock pulse for each bit time, also assume that the,
Q is initially 0. The right most bits are applied first.

J;= 10110110

J, = 11011001
K;=10010110
K,=11011011

JJ!I: — ) Q—
—C

K, .

(— D X oF—

L. 011100000
2.000011100
3. 101001000

4. 110100100
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The following function is a implemented using 4 * 1 MUX, with *a’ and ‘b’ as select lines.

F(a,b,c)=Y(1,3.5,6)

m
Choose the correct multipexer Implementation.

x| MUX

A

4«1 MUX

]
o
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The following function is a implemented using 4 * 1 MUX, with *a’ and ‘b’ as select lines.

F(a,b,c)=Y(1,3.5,6)

m
Choose the correct multipexer Implementation.

x| MUX

A

4«1 MUX

]
o
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The min terms for the following *f;;,” will be
fuin =AC+AD+AB+BD

/=(0,1,5,6,9,13,15)

m

f=Y.(2,8,9.10,12,14)

m

—a

(]

f=2.(0.1,3,4,5,6,7,13,15)

m

(el

4 f=2.(1,5.7,9.10,12,14,15)

m
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The min terms for the following *f;;,” will be
fuin =AC+AD+AB+BD

/=(0,1,5,6,9,13,15)

m

£=Y.(2,8,9,10,12,14)

m

[

(o

f=2.(0.1,3,4,5,6,7.13,15)

™

(8]

4. f=2.(1,5,7,9.10,12,14,15)

m

Question Number : 70 Question Id : 342123688 Question Type : MCQ Option Shuffling : No
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A6 - bit DAC has a step size of 50 mV. The full - scale output voltage and percentage resolution
for this will be?

1. 5V, 1.587%
2.3.15V, 98.413%
3.5V, 33.33%

4.3.15V, 1.587%
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A6 - bit DAC has a step size of 50 mV. The full - scale output voltage and percentage resolution
for this will be?

1. 5V, 1.587%
2.3.15V,938.413%
3.5V, 33.33%

4.3.15V, 1.587%
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What will be the content of register AX when the following set of instructions are executed in
8086 microprocessor?

MOV AX, 31H
ADDAL, 39H
AAA
1.0070H
2.006AH
3.0100H

4. 116AH
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What will be the content of register AX when the following set of instructions are executed in
8086 microprocessor?
MOV AX, 31H
ADD AL, 39H
AAA
1. 0070H
2. 006AH
3.0100H

4. 116AH

Question Number : 72 Question Id : 342123690 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The 8-bit stack pointer (SP) register is used by the 8051 to hold an internal RAM address that is
called the top of the stack. When the 8051 is reset, what is the value of SP?

1.0OOH
2.07H
3.20H

4 FFH
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The 8-bit stack pointer (SP) register is used by the 8051 to hold an internal RAM address that is
called the top of the stack. When the 8051 is reset, what is the value of SP?

1.0OH
2.07H
3.20H

4 FFH
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The default offset register for code segment register (CS) in 8086 is

1. SP

[

W
3.
4. BX
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The default offset register for code segment register (CS) in 8086 is

e SE

(i)

. DI
3. B
4. BX

Question Number : 74 Question Id : 342123692 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

For the Instruction (in case of 8051)
DIV AB
Which of the following statements is not correct?

L. The overflow flag is cleared to 0 unless B holds 00H before the DIV
2. The overflow flag is set to 1 to show division by 0
3. The carry flag is always set

4. This instruction put the integer part of quotient in register A & the integer part of the
remainder in register B.
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For the Instruction (in case of 8051)
DIV AB
Which of the following statements is not correct?

I. The overflow flag is cleared to 0 unless B holds 00H before the DIV
2. The overflow flag is set to 1 to show division by 0
3. The carry flag is always set

4. This instruction put the integer part of quotient in register A & the integer part of the
remainder In register B.
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The magnetic field at the centre of the loop i.e H(0.,0,0) is given by

A2

i8] =
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The magnetic field at the centre of the loop i.e H(0,0,0) is given by

A2

a -

Question Number : 76 Question Id : 342123694 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The Doppler frequency seen by a stationary radar with a (CW) transmit frequency of 5 GHz and
target radial velocity of 100 km/hr is :

1.387Hz
2.256 Hz
3.428Hz
4.927Hz
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The Doppler frequency seen by a stationary radar with a (CW) transmit frequency of 5 GHz and

target radial velocity of 100 km/hr s :

1.387Hz
2.256 Hz
3.428Hz

4.927Hz

Question Number : 77 Question Id
Correct Marks : 2 Wrong Marks : 0

The circular loop of radius ‘a”as shown in the

: 342123695 Question Type : MCQ Option Shuffling : No

figure carries a current I The magnetic field (in the

spherical coordinate system) at the observation point is :

ANZ

(Observation
Point

X
e
. £
- 1[;r;2:ine
- (7" Jsn

dnr’
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The circular loop of radius ‘a’ as shown in the figure carries a current I. The magnetic field (in the
spherical coordinate system) at the observation point is :

NZ

Observation
Pomnt

l(xaz)cosﬂ

2;rr3
l(xaz)cos(]

2
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When a plane electromagnetic wave from medium | (€;) is incident normally on the surface of a
perfect dielectric (1.e medium 2 with €,), then what is the relationship of the electric field
strength of the reflected wave (E,) to the electric field strength of the incident wave. (assuming

that permeabilities (1) of known insulators do not differ appreciably from free space 1.e py=u,=

)
l.iz—\/g_\/;
5o
. 2
RNCr
. Ne
4_Ew :\ja_ €
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When a plane electromagnetic wave from medium | (€;) is incident normally on the surface of a
perfect dielectric (1.e medium 2 with €,), then what is the relationship of the electric field
strength of the reflected wave (E,) to the electric field strength of the incident wave. (assuming
that permeabilities (1) of known insulators do not differ appreciably from free space 1.e py=u,=
o)

B _daa
E e +e
E__Na_
TE E
. M
" Ve
B
E Vare
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For an QPSK modulator with an input data rate (f;) of 10 Mbps and a carrier frequency of
70MHz, the minimum double - sided Nyquist Bandwidth and Baud rate will be :

1. 2.5 MHz and 5 Megabaud

]

.5 MHz and 5 Megabaud
3. 5 MHz and 2.5 Megabaud
4. 5 KHz and 2.5 Megabaud
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For an QPSK modulator with an input data rate (f,) of 10 Mbps and a carrier frequency of
70MHz, the minimum double - sided Nyquist Bandwidth and Baud rate will be

1. 2.5 MHz and 5 Megabaud

[

.5 MHz and 5 Megabaud
3. 5 MHz and 2.5 Megabaud
4. 5 KHz and 2.5 Megabaud
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For a single mode optical fiber cable with attenuation of 0.25dB/km, the optical power (in dBm),
100 Km away, from a 0.1 mW light source will be :

|.-10dBm
2.-25dBm
3.-30dBm

4. -35dBm
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For a single mode optical fiber cable with attenvation of 0.25dB/km, the optical power (in dBm),
100 Km away, from a 0.1 mW light source will be :

|.-10 dBm
2.-25dBm
3.-30dBm

4.-35dBm
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For a standard telephone circuit with a signal-to-noise power ratio of 1000 and a BW of 2.7 KHz,
the Shannon limit for Information capacity approximately is :

1. 26.9 Kbps
2.2.7Kbps
3.3.32 Kbps

4.29.6 Kbps

Question Number : 81 Question Id :
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For a standard telephone circuit with a signal-to-noise power ratio of 1000 and a BW of 2.7 KHz,
the Shannon limit for Information capacity approximately is :

1.26.9 Kbps
2.2.7Kbps

3.3.32 Kbps
4.29.6 Kbps

Question Number : 82 Question Id
Correct Marks : 2 Wrong Marks : 0

For an angle modulated signal

342123700 Question Type : MCQ Option Shuffling : No

X(t)=3cos[2n 10% + 2 sin (2n 10° t)]
Its maximum phase deviation and maximum frequency deviation respectively are

1.3 rad & 10° Hz
2.2 rad & 10° Hz
3.2 rad & 2x10° Hz
4.3 rad & 2x10° Hz

Question Number : 82 Question Id
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For an angle modulated signal

X (1)=3 cos [2n 10% + 2 sin (27 10° 1)]
Its maximum phase deviation and maximum frequency deviation respectively are

1.3 rad & 10° Hz
2.2rad & 10° Hz
3.2 rad & 2x10° Hz

4.3 rad & 2x10° Hz

Question Number : 83 Question Id : 342123701 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The output of a control system is
-5 g
c(t)= 1402579 125010
For an unit step input, its undamped natural frequency and damping ratio will be

1. 50 rad/s & 1.34

[g]

. 500 rad/s & 0.5
3.22.36rad /s & 0.35

4.22 36 rad/s & 1.34
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The output of a control system is
5 g
o(t)=1+0.25¢0 . 1 25¢71"
For an unit step input, its undamped natural frequency and damping ratio will be

1. 50 rad/s & 1.34

[

. 500 rad/s & 0.5

3.22.36rad /s & 0.35

4.22.36 rad/s & 1.34
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For the stable system shown below
R+ §+2 1 4 C
YT s+ Iss+1)

Its velocity error constant and steady state error for unit ramp input respectively will be

Question Number : 84 Question Id : 342123702 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

For the stable system shown below
R+ §+2 [ 4 C
T 544 Is(s+1)

Its velocity error constant and steady state error for unit ramp input respectively will be
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A thyristor having the equivalent capacitance of the depletion layer of reverse biased junction as
20 picofarad can be fired with a dv/dt of 120 V/usec. The capacitive current flowing through the

junction will be :

1. .8 mA
2.24 mA
3.3.6mA

4.5.9mA
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A thyristor having the equivalent capacitance of the depletion layer of reverse biased junction as
20 picofarad can be fired with a dv/dt of 120 V/usec. The capacitive current flowing through the

junction will be :

1. 1.8 mA
2.24 mA
3.3.6 mA

4.5.9mA
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The Signal Flow Graph for the series RLC circuit given below is ?

sl
o—AWW o0 -

E; (S) K_I’(/S] 2 2y Rl
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The Signal Flow Graph for the series RLC circuit given below is ?

sl
o—AWW o0 -

E; (S) K_I’(/S] 2 2y Rl
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A piezoelectric transducer having a wafer of plezoelectric crystal material with a relative
permittivity of 700 is sandwiched between two plated electrodes. The plate dimensions is Smm x
Smm. The piezoelectric crystal material has a thickness 2mm. When a force of 10N is applied, the
piezoelectric transducer produces an output voltage of 40V. The respective value of its voltage
sensitivity and charge sensitivity is ?

1.0.04Vm/N, 247.52 pC/N
2.0.05 Vm/N, 309.4 pC/N
3.0.04 VN, 261.12 pC/N

4.0.05 V/N, 319.8 pC/N
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A piezoelectric transducer having a wafer of piezoelectric crystal material with a relative
permittivity of 700 1s sandwiched between two plated electrodes. The plate dimensions is Smm x
Smm. The piezoelectric crystal material has a thickness 2mm. When a force of 10N is applied, the
piezoelectric transducer produces an output voltage of 40V, The respective value of ifs voltage
sensitivity and charge sensitivity is 7

1. 0.04V/N, 247.52 pC/N
2.0.05 VN, 309.4 pC/N
3.0.04 VN, 261.12 pC/N
4.0.05 V/N, 319.8 pC/N
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APMMC instrument has a three - resister Ayrton shunt connected in parallel with it to make an
ammeter as shown in the figure. The current range of the ammeter when connected to C is

Rm=1kQ FSD=100uA
—
I
O— L MWW ‘M‘—J:B
R =0.050 [Ry=0-95Q Ry =90
—0—0——0
5 A=
0 |
D
I. 10 mA
2.1 mA
3.100 mA
4. 1A
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A PMMC instrument has a three - resister Ayrton shunt connected in parallel with it to make an
ammeter as shown in the figure. The current range of the ammeter when connected to C is

Rm=1kQ FSD=1004A
I
o—L W AW B
Ry =0:05Q [Ry=0-950Q Ry =90
L 0c—0—0
C A=
0 I
D
. 10 mA
2.1 mA
3. 100 mA
4. 1A

Question Number : 89 Question Id : 342123707 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



A parallel - plate capacitive transducer having air as dielectric between the plates, plate area is
50mmx350mm and plate spacing is 0.5mm. The displacement causes the capacitance to change by
LOpF. The sensitivity of the capacitive displacement transducer is

1. 50.23 pF/mm
2.66.67 pF/mm
3.61.25 pF/mm

4.59.12 pF/mm
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A parallel - plate capacitive transducer having air as dielectric between the plates, plate area is
50mm~50mm and plate spacing 1s 0.5mm. The displacement causes the capacitance to change by
LOpF. The sensitivity of the capacitive displacement transducer is

1.50.23 pF/mm
2. 66.67 pF/mm
3.61.25 pF/mm

4.59.12 pF/mm
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The accuracy of the series ohmmeter circuit consisting of a PMMC instrument with a series
connected standard Resistor Ry as shown in the given figure when the pointer is at 0.5 FSD is?

(The meter used has 1% accuracy, Assume R, <<R;)

1.2%
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The accuracy of the series ohmmeter circuit consisting of a PMMC instrument with a series
connected standard Resistor Ry as shown in the given figure when the pointer is at 0.5 FSD 1s?

(The meter used has 1% accuracy, Assume R, <<R;)

1.2%
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Correct Marks : 2 Wrong Marks : 0

o d , e i s o
Arrange the following in the increasing order of their electron mobility at 300K (ecm~/V.s)

A.Si
B. Ge
C. GaP
D. InAs

1. (A), (B).(C), (D)
2.(B), (C), (D), (A)
3.(C), (B), (D), (A)

4.(C), (A), (B), (D)
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o : ; e i 3 Y
Arrange the following in the increasing order of their electron mobility at 300K (cm~'/V.s)

A Si

B. Ge

C. GaP

D. InAs

1.(A), (B).(C). (D)
2.(B), (C), (D), (A)
3.(C), (B). (D). (A)

4.(C), (A), (B), (D)
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Arrange the following in the decreasing order of their Bandgap (eV) at 300K.

A. GaAs

B. Si

C. Ge

D. Zn0O

E. InSb

1L.AB CDE
2.B.AD.E.C
3.C,D.B.AE

4D, A.B.C.E
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Arrange the following in the decreasing order of their Bandgap (eV) at 300K.

A. GaAs

B. Si

C. Ge

D. Zn0

E. InSb
1.ABC.D.E
2B.ADE.C
1.0 D.BAE

4. D,A,B,C.E
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Arrange the following materials with regard to their thermal conductivities when used in
packaging in the units k(W/cm-°c) in the decreasing order.

A. Silicon
B. Au

C. Epoxy (fused Silica filler)
D. Alumina (Al, O3)

E. Common Cu Alloys

L. (A). (C). (B). (D), (E)
2.(A),(C), (D), (B), (E)
3.(B). (E). (A). (C).(D)

4.(B), (E), (A), (D), (C)
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Arrange the following materials with regard to their thermal conductivities when used in
packaging in the units k(W/cm-°c) in the decreasing order.

A. Silicon

B. Au

C. Epoxy (fused Silica filler)
D. Alumina (Al, O3)

E. Common Cu Alloys

L. (A), (C), (B), (D), (E)
2.(A),(C), (D), (B), (E)
3.(B). (E), (A), (C).(D)

4.(B), (E), (A), (D), (C)
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Arrange the following with respect to their segregation coefficient in the increasing order.
A Al
B. As
C.B
D.C
B.R

L.(A), (D), (B), (C), (E)
2.(A), (D), (B), (E), (C)
3.(B), (A),(C), (D), (E)

4.(B), (C), (D). (A).(E)
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Arrange the following with respect to their segregation coefficient in the increasing order.

A Al

B. As

C.B

D.C

2P

1.(A). (D). (B), (C). (E)

2.(A). (D). (B), (E). (C)

3.(B).(A),(C), (D). (E)

4.(B), (C), (D), (A), (E)
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For a series RLC circuit given below, arrange the driving point impedance |z in descending
order.

12:5,F
0000 " °
SmH
o $100
Oy )
0

z| at @ =4800 Hz
z| at @ =4000 Hz
zlatw=23200Hz
z/ at m =4400 Hz

U wp

1.C,B,D,A
2.C,A,D,B
3.A,D,B,C
4.A,B,C,D
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For a series RLC circuit given below, arrange the driving point impedance |z in descending
order.

12:5,F
0000 " °
SmH
o $100
Oy )
0

z| at @ =4800 Hz
z| at @ =4000 Hz
zlatw=23200Hz
z/ at m =4400 Hz

U wp

1.C,B,D,A
2.C,A,D,B
3.A,D,B,C
4.A,B,C,D

Question Number : 96 Question Id : 342123714 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



For the circuit given below, arrange the Z-parameters in descending order.

21,

2.D,A,B,C
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For the circuit given below, arrange the Z-parameters in descending order.

3Q

[-2
=
P
=
™
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Identify I, IT and IIT in the block diagram of phase lock loop.

Fin I = 1 = 11 Fout

A. Phase Detector
B. Voltage controlled oscillator
C. Low Pass Filter

L. B E
2.AC. B
3. B C A

4. B,A,C
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Identify I, IT and III in the block diagram of phase lock loop.

Fin—= | S| = 11 =Fout

A. Phase Detector
B. Voltage controlled oscillator

C. Low Pass Filter
1.4, B, C
2.AER
3.B.C.A
4. B.A,C
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Identify the block numbered from I to V in the following diagram

— +V
R]é

B |

8
Modulation 1 1 =2l o IV —oAA
Input 3]

—O_TL 1L

VCO |7 |

7t L

A. Current source
B. Integrator

C. Bufter amplifier
D. Differentiator
E. Schmitt Trigger

1.8, By E, B, C

(]

AEC DB

L

.B,D,A,C,E

q.8: B C, B, D
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Identify the block numbered from I to V in the following diagram

— +V
R]é

B |
8
Modulation S| 1 =2l o IV —oAA

Input 3]

Il O —O_ILI

A. Current source
B. Integrator

C. Bufter amplifier
D. Differentiator
E. Schmitt Trigger

1.8, By E, B, C

[

AEC,D.B

L

.B,D,A,C,E
4.8 E.C B D
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Arrange the following logic families in increasing order of their noise margin

A. TTL ( Transistor - Transistor Logic)

B. ECL (Emitter coupled logic)

C. MOS (Metal oxide semiconductor logic)
D. IIL (Integrated Injection logic)

I.B,D,A,C
2.A,C,B,D
3.C,B,D,A

4D.C.AB
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Arrange the following logic families in increasing order of their noise margin

A. TTL ( Transistor - Transistor Logic)

B. ECL (Emitter coupled logic)

C. MOS (Metal oxide semiconductor logic)
D. IIL (Integrated Injection logic)

L B LR
2.A,C,B,D
3.C,B.D.A
4D,C,AB
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For a 4-bit counter arrange the following counters in increasing order of their valid counts.

A. Ring counter

B. Johnson counter
C. Decade counter
D. Ripple counter

I By & D€
2.4, CB;D
3.A.B,CD

4.C,D,B,A
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For a 4-bit counter arrange the following counters in increasing order of their valid counts.

A. Ring counter

B. Johnson counter
C. Decade counter
D. Ripple counter

1.B,A,D,C
2.A,C,B,D
3.AB.CDH

4.C,D,B,A

Question Number : 101 Question Id : 342123719 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Following set of instructions in 8086 searches a table of 100 bytes for 0AH. Select the correct
option

MOV CX, 100

MOV AL, 0AH

A.STC

B.CLC

C.CLD

D. REPNE SCASB

E. JCXZ Not FOUND
NOT FOUND : END

1A BB E A

2B, D AEL

3.C,D,AEB

4B.D,C.E.A

Question Number : 101 Question Id : 342123719 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Following set of instructions in 8086 searches a table of 100 bytes for 0AH. Select the correct
option

MOV CX, 100

MOV AL, 0AH

A.STC

B.CLC

C.CLD

D. REPNE SCASB

E. JCXZ Not FOUND

NOT FOUND : END
1A B, BE.C
2.B,D,AEC
e DAt B

4B.D,C.E.A
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Arrange the following Antennas on the basis of increasing order of directivity

A. Short dipole HPBW = 90°
B. /4 monopole

C. Isotropic (hypothetical)
D. Hemispherical radiator

E. #/2 monopole

1B, Dy G AE
ZEB.D.AE
300 D.BE

4 D,C,AE.B
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Arrange the following Antennas on the basis of increasing order of directivity

A. Short dipole HPBW = 90°
B. /4 monopole

C. Isotropic (hypothetical)
D. Hemispherical radiator

E. 7/2 monopole

1.8, D, C,AE
2 EB.DAE
3 0CA DB E

4.D,C,AE.B
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For a super heterodyne receiver the correct sequence of block to receive a signal is
A. Mixer

B. RF stage
C. Antenna

D. Detector
E. IF Amplifier

1, DA BE
2.C.8B,AED
3.D,E,B,A.C

4.D,C,B,AE
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For a super heterodyne receiver the correct sequence of block to receive a signal is
A. Mixer
B. RF stage
C. Antenna

D. Detector
E. IF Amplifier

1.C,D,A,B,E
2.C,B,AE,D
3.D,E,B,A,C

4.D,C,B,AE
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For single - phase full-wave firing pulse generator using, inverse cosine control principle, arrange
the different sections of the circuit starting from input AC supply to the gate of the SCR

A. Clock pulse generator

B. Isolating transformer

C. 90° phase shift circuit to obtain cosine timing wave.
D. Level comparator

E. Pulse - output Flip Flop

.B.D.A C,E
2.CB.BAE
3.B,EACD
4 B,AE,C,D
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For single - phase full-wave firing pulse generator using, inverse cosine control principle, arrange
the different sections of the circuit starting from input AC supply to the gate of the SCR

A. Clock pulse generator

B. Isolating transformer

C. 90° phase shift circuit to obtain cosine timing wave,
D. Level comparator

E. Pulse - output Flip Flop

LB DA E
2.C.B,DAE
3.B,E.AC,D
4.B,AE,C,D
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Identify the blocks numbered from I to V in the following diagram of CRO

A. Trigger Circuit

B. Horizontal Amplifier
C. Delay line

D. Time Base generator
E. Vertical Amplifier

LBl BB
2.E,C.D.AB
3. B 0. 4.D.B

4. E.C.A.B.D
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Identify the blocks numbered from I to V in the following diagram of CRO

A. Trigger Circuit

B. Horizontal Amplifier
C. Delay line

D. Time Base generator
E. Vertical Amplifier

LB AE DB
2.E,C,D,AB
3.E.C,A,D,B

4 E.C.A.B.D
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Correct Marks : 2 Wrong Marks : 0

Which of the following statements are correct when effective mass of an electron is taken into
consideration

A. The electron effective mass is independent of the semiconductor properties.

B. Electrons near top of the V.B. have negative effective mass

C. The C.B. electron effective mass has a strong dependence on the value of bandgap
D. The effective mass decreases as the bandgap increases.

l.(A) & (C) only
2.(A) & (D) only
3.(B) & (C) only

4.(B) & (D) only
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Which of the following statements are correct when effective mass of an electron is taken into
consideration

A. The electron effective mass is independent of the semiconductor properties.
B. Electrons near top of the V.B. have negative effective mass

C. The C.B. electron effective mass has a strong dependence on the value of bandgap
D. The effective mass decreases as the bandgap increases.

I.(A) & (C) only
2.(A) & (D) only
3.(B) & (C) only

4.(B) & (D) only
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3

The effective density of states in the conduction band N (em™) for Si & GaAs at 300K are

A. Si=2.86x10%
B. Si=2.66x10"
C. GaAs=4.7x10""
D. GaAs = 7.0x10'8

1.(A) &(C)
2.(A) & (D)
3.(B) & (C)
4.(B) & (D)
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~

The effective density of states in the conduction band N (cm™) for Si & GaAs at 300K are

A. Si=286x10"
B. Si=2.66x10"
C. GaAs=4.7x10%
D. GaAs = 7.0x10'®

L. (A) & (C)
2.(A) & (D)
3.(B) & (C)
4.(B) & (D)
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The peak concentration in the lateral autodoping profile is a function of the following parameters

A. Temperature

B. Surface concentration in the buried layer
C. Applied voltage
D. Growth rate

[.(A) & (B) only
2.(A) & (C) only
3.(A),(B) & (C) only

4.(A).(B) & (D) only
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The peak concentration in the lateral autodoping profile is a function of the following parameters

A. Temperature

B. Surface concentration in the buried layer
C. Applied voltage

D. Growth rate

[.(A) & (B) only

2.(A) & (C) only

3.(A),(B) & (C) only

4.(A),(B) & (D) only
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The high frequency and high speed issues of the MOSFET are controlled by the following
through the channel

A. Capacitance charging times

B. Capacitance discharging times

C. Transit time of the carriers

D. Series resistances assoclated with the source & the drain

[.A&B only
2. A& Conly
3.A&Donly

4.B & D only
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The high frequency and high speed issues of the MOSFET are controlled by the following
through the channel

A. Capacitance charging times

B. Capacitance discharging times

C. Transit time of the carriers

D. Series resistances associated with the source & the drain

I.A&B only
2. A& Conly
3.A&Donly

4.B & Donly
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A. The Vy,. Zy, and I values for the circuit given below are given as

60 —j4
—AWA | —o
+
aY ;
<>|430w 7842

A.Zy =32/-10-48°Q

B.V,, =0-5224-67°V

it 6+ 58 i
82120°
D-Vin = 6+ 8 v

E.Igc =0:2483-1°A

1. (A), (B) & (E) only

I3

.(B), (C) & (E) only

L

.(C), (D) & (E) only

4.(A). (D) & (E) only
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A. The Vy,. Zy, and I values for the circuit given below are given as

60 —j4
—AWA | —o
+
aY ;
<>|430w 7842

A.Zy =32/-10-48°Q

B.V,, =0-5224-67°V

it 6+ 58 i
82120°
D-Vin = 6+ 8 v

E.Igc =0:2483-1°A

1. (A), (B) & (E) only

I3

.(B), (C) & (E) only

L

.(C), (D) & (E) only

4.(A). (D) & (E) only
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If a coil draws 0.5 A from a 120V, 60Hz source at a 0.7 lagging power factor, then

A. Coll resistance 1s 2400

B. Power factor angle is cos! (0.7)
C. Coil impendence is 168 +j171. 40
D. Power factor angle is 32.38°

E. Coil induction is 0.455 H

1. (A) and (B) only
2.(C) and (E) only
3.(D) and (E) only

4. (A) and (E) only
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If a coil draws 0.5 A from a 120V, 60Hz source at a 0.7 lagging power factor, then

A. Coll resistance 1s 2400

B. Power factor angle is cos! (0.7)
C. Coil impendence 1s 168 +j171. 40
D. Power factor angle is 32.38°

E. Coil induction is 0.455 H

1. (A) and (B) only

2.(C) and (E) only

3.(D) and (E) only

4. (A) and (E) only
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Following is true for a closed loop op-amp based non-inverting amplifier :

A. It Is a voltage shunt feedback amplifier

B. It has its bandwidth under feedback given by {UT}J ® . K = Attenation factor
Ag = Closed loop gain }

C. It has its input resistance under feedback given by R; (1 + AB) : R; = input resistance
A =0Open loop gain
B = Feedback gain

D. It is a voltage series feedback amplifier

I. Aand C only

2.Aand B only

L

3.Band D only

4. C and D only
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Following is true for a closed loop op-amp based non-inverting amplifier :

A. It is a voltage shunt feedback amplifier

B. It has its bandwidth under feedback given by WGEJ ® . K = Attenuation factor
'3 ¥
A = Closed loop gain
C. It has its input resistance under feedback given by R; (1 + AB) ; R; = input resistance

A =0Open loop gain
B = Feedback gain
D. It is a voltage series feedback amplifier

1. Aand C only
2. Aand B only
3.Band D only
4. C and D only
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Which of the following statements are correct about the basic transistor amplifier configuration?

A. The voltage gain of CB amplifier is higher than the voltage gain of CC amplifier
B. The CB amplifier has low input impedance and a low current gain

C. The CC amplifier has high input impendence and a low current gain

D. The CC amplifier has low output impendence and a high current gain

E. The CC amplifier has low input impendence and a low current gain

I.A. BandD only
2. A, Band C only
3.A,Band E only

4, Aand B only
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Which of the following statements are correct about the basic transistor amplifier configuration?

A. The voltage gain of CB amplifier is higher than the voltage gain of CC amplifier
B. The CB amplifier has low input impedance and a low current gain

C. The CC amplifier has high input impendence and a low current gain

D. The CC amplifier has low output impendence and a high current gain

E. The CC amplifier has low input impendence and a low current gain

I.A,Band D only
2. A, Band C only
3.A.Band E only

4. Aand B only

Question Number : 114 Question Id : 342123732 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0



For asynchronous sequential circuits

A. Memory elements are either unclocked FFs or time delay elements

B. Change in input signal can affect memory elements upon activation of clock signal also
C. Can operate faster than synchronous circuit because of absence of clock signal

D. Easier to design

I.A& Conly

2.A,C&D only

3.A,B&Conly

4.C&D only
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For asynchronous sequential circuits

A. Memory elements are either unclocked FFs or time delay elements
B. Change in input signal can affect memory elements upon activation of clock signal also

C. Can operate faster than synchronous circuit because of absence of clock signal
D. Easler to design

[.A&Conly
2.A,C&D only
3.A,B&Conly

4.C&D only
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Hardware descriptive language (HDL)

A. Describe logic diagrams and complex digital circuits

B. Describes behavior of analog circuits using simulation techniques
C. Twwo HDL supported by IEEE are VHDL and Verilog HDL

D. Both Verilog and VHDL are based on *C’ Programming

—a

. A & D only

2.A& Conly

LS

A, C &D only

4.B.C & D only
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Hardware descriptive language (HDL)

A. Describe logic diagrams and complex digital circuits

B. Describes behavior of analog circuits using simulation techniques
C. Two HDL supported by IEEE are VHDL and Verilog HDL

D. Both Verilog and VHDL are based on ‘C” Programming

1. A& D only
2. A& Conly
3.A.C & D only

4.B. C & D only
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Correct Marks : 2 Wrong Marks : 0



For the 8051 microcontroller, during its operations in the serial data mode 2 - (Multi Processor
Mode) which of the following statements are correct :-

A. 11 bits are transmitted
ASMOD

B. The baudrate = ‘Md x oscillator frequency

SMOD ;
C. The baudrate = 237 X (timer! overflow frequency)

D. The start bit is not discarded
E. The stop bit is discarded

. A& Conly

2.A&Donly

3.B&Eonly

4. A,B & E only
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For the 8051 microcontroller, during its operations in the serial data mode 2 - (Multi Processor
Mode) which of the following statements are correct :-

A. 11 bits are transmitted

~SMOD '
B. The baudrate = ‘Md x oscillator frequency

SMOD ;
C. The baudrate = zm x (timerl overflow frequency)

D. The start bit is not discarded
E. The stop bit is discarded

. A& Conly
2.A&Donly
3.B&Eonly
4. A,B&E only
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For 8086 microprocessor interrupt system, which of the following statements are true?
A. Type 0 - Divide Error
B. Type | - 1 byte break

C. Type 2 - single step
D. Type 4 - overtlow (INTO)

L. (A) and (C) only
2.(B) and (D) only
3.(B) and (C) only
4.(A)and (D) only
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For 8086 microprocessor interrupt system., which of the following statements are true?
A. Type 0 - Divide Error
B. Type 1 - 1 byte break

C. Type 2 - single step
D. Type 4 - overtlow (INTO)

l. (A) and (C) only
2.(B) and (D) only
3.(B) and (C) only
4.(A)and (D) only
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For an infinitesimal electric dipole depicted in the figure below, the potential at point P and
electric field components are given :

1 gleosh

i
_‘:{
|

(.fcn‘ I << rE}

dre o

{sinf
B.E=1=

der

1 glcost
drs r]

D.Vp
L. (B) and (C) only
2.(A) and (C) only
3.(C) and (D) only

4.(A) and (B) only

Question Number : 118 Question Id : 342123736 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



For an infinitesimal electric dipole depicted in the figure below, the potential at point P and
electric field components are given :

1 gleosh

i
_‘:{
|

(.fcn‘ I << rE}

dre o

{sinf
B.E=1=

der

1 glcost
drs r]

D.Vp
L. (B) and (C) only
2.(A) and (C) only
3.(C) and (D) only

4.(A) and (B) only

Question Number : 119 Question Id : 342123737 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



For microwave sources and devices

A. In two cavity klystron, the cavity close to cathode is known as buncher cavity which
modulates the electron beam

B. The interaction of electron beam and RF field in the TWT is discontinuous over the entire
length of the circuit .

C. Split anode magnetron uses a dynamic positive resistance between three anode elements.
D. In Gunn diode, the stable amplification mode is defined in the region where product of

frequency times the length is 10%emy/sec
E. IMPATT diode exhibit differential negative resistance due to impact ionization avalanche
effect which cavses carrier current and AC voltage to be out phase by 90°

l. (B) and (C) only
2.(C)and (D) only
3.(B)and (D) only

4.(A)and (E) only

Question Number : 119 Question Id : 342123737 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

For microwave sources and devices

A. In two cavity klystron, the cavity close to cathode is known as buncher cavity which
modulates the electron beam

B. The interaction of electron beam and RF field in the TWT is discontinuous over the entire
length of the circuit .

C. Split anode magnetron uses a dynamic positive resistance between three anode elements.
D. In Gunn diode, the stable amplification mode is defined in the region where product of

frequency times the length is 103 cmy/sec
E. IMPATT diode exhibit differential negative resistance due to impact ionization avalanche
effect which causes carrier current and AC voltage to be out phase by 90°

l. (B) and (C) only
2.(C) and (D) only
3.(B)and (D) only

4.(A)and (E) only

Question Number : 120 Question Id : 342123738 Question Type : MCQ Option Shuffling : No



Correct Marks : 2 Wrong Marks : 0

In case of Avalanche Photo Detector (APD)

A. APD is more sensitive than PIN photo diode

B. APD is a PIN structure

C. A high electric field intensity is required in APD

D. There is less noise generation in APD as compared to PIN photo diode

—_

. A & B only

[

.B & C only

3. A& D only

'_J‘_;.“

A& Conly

Question Number : 120 Question Id : 342123738 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In case of Avalanche Photo Detector (APD)

A. APD is more sensitive than PIN photo diode

B. APD is a PIN structure

C. A high electric field intensity is required in APD

D. There is less noise generation in APD as compared to PIN photo diode

[a—

. A & B only

-

.B & C only

3. A& D only

4+

.A & Conly

Question Number : 121 Question Id : 342123739 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



In data communication, MODEMs

A. The word MODEM is contraction derived from words Modulation and Demodulation

B. MODEM s an interface between digital terminal equipments to analog communication
facilities

C. AMODEM transmitter is analog-to-digital converter (ADC)

D. The output of a MODEM is, a digital signal carrying analog information

I.A.B & C only
2.B,C & D only
3.A&B only

4. A&D only

Question Number : 121 Question Id : 342123739 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In data communication, MODEMs

A. The word MODEM s contraction derived from words Modulation and Demodulation

B. MODEM is an interface between digital terminal equipments to analog communication
facilities

C. AMODEM transmitter is analog-to-digital converter (ADC)

D. The output of a MODEM is, a digital signal carrying analog information

[.A,B&Conly
2.B,C & D only
3.A&B only

4 A&D only

Question Number : 122 Question Id : 342123740 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Comparison of open loop and close loop control system

A. Open loop systems are more stable in comparison to close loop system
B. Open loop system are more reliable in comparison to close loop system
C. Open loop systems are easy to build in comparison to close loop system
D. Open loop system can be optimized while close loop cannot be optimized

1. A& D only

2.C & D only

fhd

A& Conly

4. B & D only

Question Number : 122 Question Id : 342123740 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Comparison of open loop and close loop control system

A. Open loop systems are more stable in comparison to close loop system
B. Open loop system are more reliable in comparison to close loop system
C. Open loop systems are easy to build in comparison to close loop system
D. Open loop system can be optimized while close loop cannot be optimized

1. A& D only

2.C & D only

L]

A& Conly

4.B & D only

Question Number : 123 Question Id : 342123741 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



For SCR

ATA rating of the SCR represents the capability to withstand the overload current for the
specified time, where the current (I) is the rms value for the time interval t.

B. The negative gate bias decreases the forward blocking capability and maximizes the false
triggering possibility during high dv/dt operation

C. Resistance at the gate increases the dv/dt capability and lowers the turn-off time

D. The gate non trigger voltage is the maximum DC gate voltage that maybe applied between
gate and anode for which the device can maintain its rated blocking voltage.

E. The turn-off time becomes shorter due to introduction of Au Atoms in silicon, which serve
as ‘traps’ for carriers, but it increases ON state loss.

I. Aand B only
2.Band C only
3. Aand D only

4. Cand E only

o
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For SCR

ATA rating of the SCR represents the capability to withstand the overload current for the
specified time, where the current (I) is the rms value for the time interval t.

B. The negative gate bias decreases the forward blocking capability and maximizes the false
triggering possibility during high dv/dt operation

C. Resistance at the gate increases the dv/dt capability and lowers the turn-off time

D. The gate non trigger voltage is the maximum DC gate voltage that maybe applied between
gate and anode for which the device can maintain its rated blocking voltage.

E. The turn-off time becomes shorter due to introduction of Au Atoms in silicon, which serve
as ‘traps’ for carriers, but it increases ON state loss.

I. Aand B only
2.Band C only
3. Aand D only

4. Cand E only

Question Number : 124 Question Id : 342123742 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

For an electrodynamic wattmeter, which of the following statements are correct?

A. It measures average power over a time period

B. The moving coil is called as the voltage coil

C. The field coil are connected in parallel with the load
D. The field coils are called as the voltage coils.

E. The moving coil is connected in parallel with the load.

1. A, CandD only

]

.A.BandE only
3.A.Dand E only

4. A, B and C only
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For an electrodynamic wattmeter, which of the following statements are correct?

A. It measures average power over a time period

B. The moving coil is called as the voltage coil

C. The field coil are connected in parallel with the load
D. The field coils are called as the voltage coils.

E. The moving coil is connected in parallel with the load.

[a—

.A. CandD only

[

.A.Band E only
3.A,Dand E only

4. A, B and C only

Question Number : 125 Question Id : 342123743 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following statements are correct?

A. Light Dependent Resistors (LDRs) are based on Photo conductive Effect.

B. In LDRs, resistance increases from its dark resistance value with increase in light intensity.
C. LDRs are slow responding to changes in light intensity.

D. Photodiodes can be operated only in the photoconductive region

E. Photodiodes have a faster switching time than Photo-transistors

I.A, C, and D only
2.A.B,and E only
3.A.B.and D only

4. A, C,and E only

Question Number : 125 Question Id : 342123743 Question Type : MCQ Option Shuffling : No
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Which of the following statements are correct?

A. Light Dependent Resistors (LDRs) are based on Photo conductive Effect.

B. In LDRs, resistance increases from its dark resistance value with increase in light intensity.
C. LDRs are slow responding to changes in light intensity.

D. Photodiodes can be operated only in the photoconductive region

E. Photodiodes have a faster switching time than Photo-transistors

I.A.C,and D only
2.A. B, and E only
3.A,B,and D only

4. A, C, and E only

Question Number : 126 Question Id : 342123744 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match the List-I with List-II. Breakdown Electric fields in the following materials

LISTI LISTII
Name of the material | Breakdown Electric field (V/cm)
A | GaAs L |1¢°
B. [SiC IL [4x10°
C. |S13Ny II. | 2-3x108
D. |Ge IV. [107

Choose the correct answer from the options given below:
1. A-II. B-III, C-1, D-IV
2. A-I1, B-III, C-IV, D-1
3. A-IV, B-II, C-TIL, D-1

4. A-IV, B-1, C-IIL, D-II

Question Number : 126 Question Id : 342123744 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match the List-I with List-II. Breakdown Electric fields in the following materials

LIST1 LISTII
Name of the material | Breakdown Electric field (V/cm)
A | Gads L |10°
B. |SiC IL |4x10
C. SNy I [2-3%10%
D. |Ge V. {107

Choose the correct answer from the options given below:
1. A-II. B-III, C-L. D-IV
2. A-IIL B-III, C-IV, D-I
3. A-IV, B-II, C-1I1, D-1

4. A-IV, B-1, C-II, D-II

Question Number : 127 Question Id : 342123745 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match the List-I with List-II. Identify the correct combinations

LISTI LISTII
A |Ton - implantation | I. |HRP- 206
B. |Lithographyv II. |Ohmic Contact
C. |Metallization III. |TAB
D. |Packaging IV. |Nuclear Stopping

Choose the correct answer from the options given below:
1. A-II. B-IV, C-III, D-I
2. A-IV, B-1, C-II, D-III
3. A-IV, B-1. C-III. D-II
4. A-I1. B-III, C-IV, D-I

Question Number : 127 Question Id : 342123745 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match the List-I with List-IL. Identify the correct combinations

LISTI LISTII
A |lon - mplantation | I. |HRP- 206
B. |Lithography II. |Ohmic Contact
C. | Metallization III. |TAB
D. |Packaging IV, |Nuclear Stopping

Choose the correct answer from the options given below:

1. A-IL, B-IV, C-111, D-1

[

. A-IV, B-1, C-II, D-III

[

. A-IV, B-1, C-III, D-II

4. A-I1, B-II, C-1V, D-1

Question Number : 128 Question Id : 342123746 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match the List-TI with List-IT

LISTI LISTII
Time domain Frequency domain
I
A | y()==(- L |5 a0 o9
¥y =xt (a+j2af)”

x(t) =t u(t) a>o I | X(H=-X(-D

C. |v(t) = x(at) oI | Y(H=X(-D)
& L xff)
D. |x(t). odd: x(t) =—=x(~t)| IV. |Y {f } = HK[; |
A

Choose the correct answer from the options given below:

1. A-I. B-IV, C-II. D-III

(g

. A-IIL B-1, C-IV, D-1I

(5]

- A-II, B0, C-1, D-IV

I

. A-IV, B-11, C-111, D-1



Question Number : 128 Question Id : 342123746 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match the List-I with List-IT

LISTI LISTII
Time domain Frequency domain
I
A |yl =x=x(-t L >

x(t)= teat u(t) a=o I | X =-X(-)
C. |v(t) = x(at) I | YD =X(-D

; l )
D. |x(t). odd: x(t) =—=x(—t) | IV. | Y (I } _ _K{% |

jal \a)

Choose the correct answer from the options given below:
1. A-1, B-1IV, C-II, D-III
2. A-1IL, B-1, C-IV, D-II
3. A-IL, B-IL, C-1, D-IV

4. A-IV, B-11, C-III, D-I

Question Number : 129 Question Id : 342123747 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match the List-I with List-II

LISTI
Input

LISTII
Output

IL

Vin
¥p
t

-p

—VsulT_

D. vp + R Vi IV 01'[ —| > ¢
ov L Vin 5 L 7
vp 1 ROM g ~Vsat

(o]

=R = -

Choose the correct answer from the options given below:
[. A-IL, B-I, C-IV, D-III
2. A-IIL B-IV, C-I, D-II
3. AJIL B-L, C-IV, D-II

4. A-IL B-IV, G-, D-III

Question Number : 129 Question Id : 342123747 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match the List-I with List-II

LISTI
Input

LISTII
Output

IL

Vin
¥p
t

-p

—VsulT_

D. vp + R Vi IV 01'[ —| > ¢
ov L Vin 5 L 7
vp 1 ROM g ~Vsat

(o]

=R = -

Choose the correct answer from the options given below:
[. A-IL, B-I, C-IV, D-III
2. A-IIL B-IV, C-I, D-II
3. AJIL B-L, C-IV, D-II

4. A-IL B-IV, G-, D-III

Question Number : 130 Question Id : 342123748 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match the List-I with List-II

LISTI LISTII
Programmable logic devices Synthesizing/Erasing Options
A |PEOM [. |Both AND and OR arrav are programmable
B. |PLA I[I. |Can be Reprogrammed
C. |PAL III. |AND array 1s fixed and OR array is programmable
D. |[EEPROM IV. | OR arrav 1s fixed and AND array 1s programmable

Choose the correct answer from the options given below:

1. A-IL, B-III, C-1, D-IV
2. A-III, B-1, C-IV, D-TI
3. A-IIL B-II, C-I, D-IV

4. A-I, B-III, C-IV, D-II

Question Number : 130 Question Id : 342123748 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match the List-I with List-II

LISTI LISTII
Programmable logic devices Synthesizing/Erasing Options
A |PROM [ |Both AND and OR arrayv are programmable
B. |PLA I[I. |Can be Reprogrammed
C. |PAL III. |AND array 1s fixed and OR array is programmable
D. |EEPROM IV. | OR arrav 1s fixed and AND array 1s programmable

Choose the correct answer from the options given below:

1. A-IL, B-III, C-1, D-IV
2. A-III, B-1, C-IV, D-TI
3. A-IIL B-II, C-I, D-IV

4. A-l, B-III, C-IV, D-II

Question Number : 131 Question Id : 342123749 Question Type : MCQ Option Shuffling : No



Correct Marks : 2 Wrong Marks : 0

Match the List-TI with List-TT

LISTI LISTII
Interrupt Address (HEX)
A |IED I 0003
B. |IE1 II. |000B
C. | TFO ITT. | 0013
D |TE1 IV. |001B

Choose the correct answer from the options given below:

1. A-1, B-1I, C-II1, D-1V

[

. A-IIL B-I1, C-L, D-IV

(%]

.A-1, B-III, C-11, D-1IV

4. A-1, B-1V, C-II, D-III

Question Number : 131 Question Id : 342123749 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match the List-I with List-IT

LISTI LISTII
Interrupt Address (HEX)
A |IED I 0003
B |IEl II. |000B
C. |TFO ITT. | 0013
D. | TE1 IV. |001B

Choose the cerrect answer from the options given below:

1. A-I, B-II, C-IIL, D-1IV

[

. A-IL BIL C-I, D-IV

[

CA-L B-III, C-11, D-IV

4. A-1, B-IV. C-1I. D-III



Question Number : 132 Question Id : 342123750 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match the List-I with List-II For 8051 microcontroller

LISTI LISTII
Timer mode Operation
A |Mode 0 I |16 - bit timer/counter
B. |Model II. | Two 8-bit timers using timer 0
C. |Mode 2 ITI. |13 bit timer/counter
D. |Mode 3 IV. |Auto - reload of TL from TH

Choose the correct answer from the options given below:

1. A-II, B-1, C-1V, D-II

b3

. A-IL, B-IV, C-1, D-1IT

sl

- A-IILL B-1V, C-1, D-II

4+

. A-ITI, B-1, C-IV, D-II
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Match the List-I with List-II For 8051 microcontroller

LISTI LISTII
Timer mode Operation
A |Mode 0 I. |16 - bit timer/counter
B. |Model II. | Two 8-bit tumers using timer 0
C. |Mode 2 ITT. |13 bit timer/counter
D. |Mode 3 IV. | Auto - reload of TL from TH

Choose the correct answer from the options given below:

1. A-II, B-1, C-1V, D-II

(i

. A-IL, B-IV, C-1, D-IIT

el

- A-IILL B-1V, C-1, D-II

4+

. A-IIL B-1, C-IV, D-IT



Question Number : 133 Question Id : 342123751 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match the List-I with List-IT

LISTI LISTII
Maxwell's Equation Word statement and /or Integral counterpart

A o I Electromotive force around a close path 1s equal to the time derivative of the
A [VxH=D+]| * magnetic displacement through any surface bounded by path

B |[VxE=-B | I |§D-da=[paV

C.[V-D=p [1I. | The net magnetic flux emerging through any closed surface 1s zero

DIV.-B=0) | IV @H-{IF“DH]«!&

Choose the correct answer from the options given below:
[. A-I, B-II, C-IV, D-III
2. A-1 B-IL C-IV, D-II
3. A-IV,B-I, C-I1, D-III

4. A-IVB-II, C-1IL, D-1

Question Number : 133 Question Id : 342123751 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match the List-I with List-II

LISTI LISTII
Maxwell's Equation Word statement and /or Integral counterpart
: Electromotive force around a close path 1s equal to the time derivative of the
A |lVxH=D+J| L i

magnetic displacement through any surface bounded by path

B |VxE=-B | L (j)D-da:j.pdV

C. |V:D: p III. | The net magnetic flux emerging through any closed surface 15 zero

D.IV.-B=() |V LﬁH-{lﬁz’HD‘l'.l)-dH

Choose the correct answer from the options given below:
1. A-I, B-IL, C-1V, D-III
2. A-L B-IL C-IV, D-II
3. A-IV.B-I, C-I1, D-III

4. A-IVB-IL C-II, D-I

Question Number : 134 Question Id : 342123752 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match the List-I with List-II For a coaxial cable in which the dielectric has inner radivs 'a' and
outer radius ‘b’ where o is conductivity.

LISTI LISTII
Transmission line parameter Expression
210

A | Capacitance per unit length | L ln( JJ}
a

| [u
e

2me
C. |Inductance per unit length | IIL l (b]
1

h J
a

Choose the correct answer from the options given below:

B. |Conductance per unit length | IL.

B

a

!
D. | Characteristic impendence | IV ; In
T

l. AL, B-I, C-I11, D-IV
2.AJILB-L G-IV, D-IT
3. A1V, B-L, C-II, D-III

4. A-IL, B-I, C-IV, D-III

Question Number : 134 Question Id : 342123752 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match the List-I with List-II For a coaxial cable in which the dielectric has inner radivs 'a' and
outer radius ‘b’ where o is conductivity.

LISTI LISTII
Transmission line parameter Expression
210

A | Capacitance per unit length | L ln( JJ}
a

| [u
e

2me
C. |Inductance per unit length | IIL l (b]
1

h J
a

Choose the correct answer from the options given below:

B. |Conductance per unit length | IL.

B

a

!
D. | Characteristic impendence | IV ; In
T

l. AL, B-I, C-I11, D-IV
2.AJILB-L G-IV, D-IT
3. A1V, B-L, C-II, D-III

4. A-IL, B-I, C-IV, D-III

Question Number : 135 Question Id : 342123753 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match the List-I with List-IT

LISTI LISTII
Multiplexing Type No. of Channels

T1 carrier svstem | I |96, 64 kbps channels

T2 carnier system | II. | 672, 64 kbps channels
T3 carrier svstem | III | 24, 64 kbps channels

T4 carrier system | IV, |4032, 64 kbps channels

olo|w|»

Choose the correct answer from the options given below:

1. A-IIT, B-11, C-1, D-1IV

b3

. A-IIL B-1, C-IL, D-IV

sl

. A-II, B-III, C-1, D-IV

4. A-1, B-IV. C-II. D-III

Question Number : 135 Question Id : 342123753 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match the List-TI with List-IT

LISTI LISTII
Multiplexing Type No. of Channels

T1 carrier system | I |96, 64 kbps channels

T2 carrier svstem | II. | 672, 64 kbps channels
T3 carrier system | III | 24, 64 kbps channels

T4 carrier svstem | IV, | 4032, 64 kbps channels

olo|w|s

Choose the correct answer from the options given below:

1. A-III, B-II, C-1, D-1IV

(]

. A-IIL B-1, C-IL, D-1IV

(%]

. A-II, B-TII, C-1, D-IV

4. A-1, B-1V, C-II, D-III

Question Number : 136 Question Id : 342123754 Question Type : MCQ Option Shuffling : No



Correct Marks : 2 Wrong Marks : 0

Match the List-TI with List-TT

LISTI LISTII
Ratellite Band Uplink Frequency (GHz)
A |C-Band I. |79-84
B. |X-Band Im |27-30
C. |Ku-Band IIT. |59-64
D. |Ka-Band IV. |14-145

Choose the correct answer from the options given below:

1. A-III, B-I, C-IV, D-II

[

. A-IIT, B-II. C-IV, D-I

(%]

.A-L, B-1I, C-111, D-1IV

I

. A-I1, B-1IV, C-II1, D-1

Question Number : 136 Question Id : 342123754 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match the List-TI with List-IT

LISTI LISTII
Satellite Band Uplink Frequency (GHz)
A | C-Band I. |79-84
B. |X-Band Im |27-30
C. |Ku-Band . |59-64
D. |Ka-Band IV. |14-145

Choose the correct answer from the options given below:

1. A-IIL, B-1, C-1V, D-1I

(]

. A-I, B-II, C-IV, D-1

(%]

.A-L B-II, C-1II, D-1IV

s

. A-II, B-IV, C-III, D-I



Question Number : 137 Question Id : 342123755 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match the List-I with List-II

LISTI LISTII
Original diagram Equivalent Diagram
A X2 X X
A 1 G L —|;~— G, -G, L 5#
X X,
X G, I Xa 1 G ll
B - IT
lil K|+ In'r{J
X, + X, X X
e 2 ! 4
G - G
(s ’ — IIL.
Xg—e—"o (G |
X X
' G 5. | X G X,
D V.
| + GH
X ———

Choose the correct answer from the options given below:

1. A-IIL, B-1, C-II, D-IV

[

. A-IIT, B-1, C-IV, D-1II

(5]

.A-IL, B-1, C-IV, D-1II

4. AL B-1V, C-1, D-TIT

Question Number : 137 Question Id : 342123755 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match the List-I with List-II

LISTI LISTII
Original diagram Equivalent Diagram
A X2 X X
A 1 G L —|;~— G, -G, L 5#
X X,
X J G, I rxz 1 G ol
B. - IT.
[ G, } X, —=—1/G [e
X, + X, X X
e 2 ! 4
G G
C ’ — IIL.
Xg—ed G |«
X X
' G 3 X) G X,
D V. ~
| + GH
X ———

Choose the correct answer from the options given below:
1. A-IIL, B-I, C-II, D-IV
2. A-TIL, B-I, C-IV, D-II
3. A-IL, B-1, C-IV, D-III

4. AL B-1V, C-1, D-TIT

Question Number : 138 Question Id : 342123756 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match the List-I with List-IT

LISTI LISTII
Thyristor Type Symbol/Properties
A |BeT I Normally operated in Quadrant I (positive gate voltage and gate current
- " | or Quadrant ITI™ (negative gate voltage and gate current)
Anode
V
B. [RCT I "— Tum-on
}-—~ Turn-oft
Cathode
C. |ETO L E BE
D. |TRIAC IV. | Thyristor with a built-in antsparallel diode

Choose the correct answer from the options given below:
[. A-IL, B-IV, C-1, D-III
2. A-IL B-I, C-IIL D-IV
3. A-IV, B-II, C-II1, D1

4. A-ITI, B-IV. C-11, D-1

Question Number : 138 Question Id : 342123756 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match the List-I with List-IT

LISTI LISTII
Thyristor Type Symbol/Properties
A |BeT I Normally operated in Quadrant I (positive gate voltage and gate current
- " | or Quadrant ITI™ (negative gate voltage and gate current)
Anode
V
B. [RCT I "— Tum-on
}-—~ Turn-oft
Cathode
C. |ETO L E BE
D. |TRIAC IV. | Thyristor with a built-in antsparallel diode

Choose the correct answer from the options given below:
[. A-IL, B-IV, C-1, D-III
2. A-IL B-I, C-IIL D-IV
3. A-IV, B-II, C-II1, D1

4. A-ITI, B-IV. C-11, D-1

Question Number : 139 Question Id : 342123757 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match the List-I with List-II

LISTI LISTII
Thermocouple Temperature range
A |K tvpe chromel - alumel thermocouple [ |0to1300°C
B. | T Type Copper - constantan thermocouple I |-200t0+1200° C

S Type Platinum - Platinum (90%) rhodium (10%)

I |-150to +350° C
thermocouple

D. |J Type Iron - constantan thermocouple IV. |-1530 to +1000° C

Choose the correct answer from the options given below:

1. A-IV, B-1, C-II, D-III

[B]

. A-1, B-IV, C-I1II. D-II

LFS

. A-IIL B-1IV, C-1, D-1I

4. A-11, B-1II, C-1, D-IV

Question Number : 139 Question Id : 342123757 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match the List-T with List-IT

LISTI LIST II
Thermocouple Temperature range
A |K type chromel - alume] thermocouple I. |0to 1500°C
B. | T Tyvpe Copper - constantan thermocouple I |-200t0+1200° C

5 Type Platinum - Platinum (90%) rhodium (10%)

II. |-150to+350°C
thermocouple

D. | J Type Iron - constantan thermocouple IV. |-130 to +1000° C

Choose the correct answer from the options given below:

1. A-IV, B-1, C-11, D-III

-2

. A-I, B-1V, C-III, D-II

lad

CA-IIL B-1V, C-1, D-1T

4. A-11, B-III, C-L, D-IV



Question Number : 140 Question Id : 342123758 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match the List-I with List-II that pertains to EEG signals and normal ECG wave patterns

LISTI LISTII
A | Gamma (7) [ 1012-02s
B. | Theta (8) I [0.05-010s
C. |QRS mterval | III |4-8Hz
D. |PR mnterval IV. |22-30Hz

Choose the correct answer from the options given below:
[. A-IV, B-IIL, C-II, D-1
2. A-IIL B-1V, C-II, D-1
3. A-IV, B-IL, C-I, D-II
4. A-IIL B-IV. C-1, DI

Question Number : 140 Question Id : 342123758 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match the List-I with List-II that pertains to EEG signals and normal ECG wave patterns

LISTI LISTII
. | Gamma (7) [ 1012-02s

A
B. |Theta (8) IL {0.05-010s
C
D

. |QRS mterval | IIT |4-8Hz
. | PR nterval IV |22-30Hz

Choose the correct answer from the options given below:
[. A-IV, B-IIL C-II, D-1
2. A-IIL B-IV, C-II, D-I
3. A-IV.B-IIL C-I, D-II

4. A-III, B-IV, C-I, D-II

Sub-Section Number : 2
Sub-Section Id : 34212329
Question Shuffling Allowed : No



Question Id : 342123759 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (141 to 145)
Question Label : Comprehension

Mobile telephone services began in the 1940%s and were called MTS's (Mobile Telephone
Systems or sometimes manual telephone systems, as all calls were handled by an operator). MTS
systems utilized frequency modulation and were generally assigned a single carrier frequency in
the 35 MHz to 45 MHz range that was used by both the mobile unit and the base station. Cellular
telephone systems offer a relatively high user capacity within a limited frequency spectrum
providing a significant innovation in solving inherent mobile telephone communication problems,
such as spectral congestion and user capacity. Cellular telephone systems replaced mobile
systems serving large area (cells) operating with a single base station and a single high power
transmitter with many smaller area (cells), each cell with its own base station and low power
transmitters,

Sub questions

Question Number : 141 Question Id : 342123760 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Number of cells in a cluster in hexagonal cellular communication system with 1= 3 and j =2, will

be

4.24

Question Number : 142 Question Id : 342123761 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

To increase the capacity of a cellular system which of the following is used?

1. Cell splitting and cell sectoring
2. Co-channel reuse ratio
3. Honey comb pattern

4. Increase the cluster size



Question Number : 143 Question Id : 342123762 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

GSM (Global systems for Mobile Communication), bands for Phase I and IT operates respectively
at

1. 900 MHz and 1800 MHz
2.900 MHz and 2100 MHz
3. 1800 MHz and 2400 MHz
4. 1800 MHz and 2100 MHz

Question Number : 144 Question Id : 342123763 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Telephone Traffic in measured

1. With Echo cancelers

[

. by the relative congestion
3. in terms of grade service

4. In Erlangs

Question Number : 145 Question Id : 342123764 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What will be total capacity of a cellular telephone system comprising of 10 clusters with 7 cells
in each clusters and there are 10 channels in each cell.

Question Id : 342123759 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (141 to 145)



Question Label : Comprehension

Mobile telephone services began in the 1940’s and were called MTS’s (Mobile Telephone
Systems or sometimes manual telephone systems, as all calls were handled by an operator). MTS
systems utilized frequency modulation and were generally assigned a single carrier frequency in
the 35 MHz to 45 MHz range that was used by both the mobile unit and the base station. Cellular
telephone systems offer a relatively high user capacity within a limited frequency spectrum
providing a significant innovation in solving inherent mobile telephone communication problems,
such as spectral congestion and user capacity. Cellular telephone systems replaced mobile
systems serving large area (cells) operating with a single base station and a single high power
transmitter with many smaller area (cells), each cell with its own base station and low power
transmitters.

Sub questions

Question Number : 141 Question Id : 342123760 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Number of cells in a cluster in hexagonal cellular communication system with i =3 and j =2, will

be

3.19
4,24

Question Number : 142 Question Id : 342123761 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

To increase the capacity of a cellular system which of the following 1s used?

1. Cell splitting and cell sectoring
2. Co-channel reuse ratio
3. Honey comb pattern

4. Increase the cluster size

Question Number : 143 Question Id : 342123762 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



GSM (Global systems for Mobile Communication), bands for Phase I and IT operates respectively
at

1. 900 MHz and 1800 MHz
2.900 MHz and 2100 MHz
3. 1800 MHz and 2400 MHz
4. 1800 MHz and 2100 MHz

Question Number : 144 Question Id : 342123763 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Telephone Traffic in measured

1. With Echo cancelers

[

. by the relative congestion
3. in terms of grade service

4. In Erlangs

Question Number : 145 Question Id : 342123764 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What will be total capacity of a cellular telephone system comprising of 10 clusters with 7 cells
in each clusters and there are 10 channels in each cell.

4. 7000

Sub-Section Number : 3
Sub-Section Id : 34212330
Question Shuffling Allowed : No

Question Id : 342123765 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix



Question Numbers : (146 to 150)
Question Label : Comprehension

A signal x(t) is a continuous — time signal if It Is a continvous variable, A discrete time signal is
often identified as a sequence of numbers denoted by x[n] where n is an integer. The z-transform
is a useful tool in the analysis of discrete time signal and systems. A sequence can be represented
in terms of linear combination of complex exponentials using Discrete Time Fourier Transform
(DTFT), however for finite length sequence there is another representation called the Discrete
Fourier Transform (DFT). DFT is used to perform digital filtering and evaluating the frequency
response of a linear shift-invariant system.

Sub questions

Question Number : 146 Question Id : 342123766 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The output y(t) of a continuous - time LTI system is found to be 4¢3t u(t), when the input x(t) is
u(t). If the input x(t) is eu(t) then y(t) is

L 2¢- 667 u(t)
2. (2et+ 6e Y u(t)
3, (-2:3t ¥ 6e3t) u(t)

4. (2et+ 6e Y u(t)

Question Number : 147 Question Id : 342123767 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



A discrete time signal x[n] is represented as

i x[n]

3
2
1
-2-1 01 2 3 4 5 6 n
Which of the following correspond to x [-n + 2]

.l'

x[-n+2]
1. 3
)
| ] [ l
01234567 n
I,
1‘[n|2]
9 3 1
2 |
151
101 2 3 "
x[—n+2]
3 13
1
l ‘ [ b
432101
x[—n+2]
4 +3
5
__'EI
43-2-10 12 )

Question Number : 148 Question Id : 342123768 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



In order to recover a finite length sequence x[n] of length N from equally spaced samples of
fourier transform, the minimum number of samples of fourier transform to be taken is

I.N
2.N2
3.0N

4. N/4

Question Number : 149 Question Id : 342123769 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

For given sequences lL.e,

Xy(n) =o(n) + o(n—1) — o(n—2) — o(n-3)

X5(n) = o(n) — o(n-2) + o(n—4)

Given, N=5

The circular convolution x3(n), of the two sequences shall be

[

.X3(n)=1{3,0,2,0, 2]

2.%3(n)=14{1,0,-4, 1,2}

|51

sxke) =426, 53,8, 1)

4.x3(n)= {3,0,-3, -2, 2}

Question Number : 150 Question Id : 342123770 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



The signal flow graph of a causal linear shift invariant filter is given below

x[n]c s gt o_v[ﬂ]
z 7!
-0-3
0-9 0.75 P
0—e—29
0.7

Using the concept of cascade of first and second order systems realized in direct form II, the
expression of H(z) is :

: (1-07527")
CHlz)= — -
g (1-0927)1-0-32 0.7,
(1-0-7527")
2 = 5 =
HIH(R) 'il—t']-*}x")(l—:ﬂ-?u'j+l}-?r'1)
(1+0.757)
3.H(z)=

[1 0.97 ")(hu-_w_ L40.72 3]

(1+n-?5;. ‘]

H(z)= -
? [I+D-92'])(l—0-32'1—D-?z'?}

Question Id : 342123765 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (146 to 150)
Question Label : Comprehension

A signal x(t) is a continuous - time signal if it is a continuous variable. A discrete time signal is
often identified as a sequence of numbers denoted by x[n] where n is an integer. The z-transform
is a useful tool in the analysis of discrete time signal and systems. A sequence can be represented
in terms of linear combination of complex exponentials using Discrete Time Fourier Transform
(DTFT), however for finite length sequence there is another representation called the Discrete
Fourier Transform (DFT). DFT is used to perform digital filtering and evaluating the frequency
response of a linear shift-invariant system.

Sub questions

Question Number : 146 Question Id : 342123766 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



The output y(t) of a continuous - time LTI system is found to be 4 (1), when the input x(t) is
u(t). If the input x(t) is eu(t) then y(t) is

L 2¢t- 66 u(t)
2. (2t + 6e Y u(t)
3, (-Eet % 6e3t) u(t)

4. (2et+ 6e Y u(t)

Question Number : 147 Question Id : 342123767 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



A discrete time signal x[n] is represented as

i x[n]

3
2
1
-2-1 01 2 3 4 5 6 n
Which of the following correspond to x [-n + 2]

.l'

x[-n+2]
1. 3
)
| ] [ l
01234567 n
I,
1‘[n|2]
9 3 1
2 |
151
101 2 3 "
x[—n+2]
3 13
1
l ‘ [ b
432101
x[—n+2]
4 +3
5
__'EI
43-2-10 12 )

Question Number : 148 Question Id : 342123768 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



In order to recover a finite length sequence x[n] of length N from equally spaced samples of
fourier transform, the minimum number of samples of fourier transform to be taken is

I.N
2.N2
3.0N

4. N/4

Question Number : 149 Question Id : 342123769 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

For given sequences lL.e,

Xy(n) =o(n) + o(n—1) — o(n—2) — o(n-3)

X5(n) = o(n) — o(n-2) + o(n—4)

Given, N=5

The circular convolution x3(n), of the two sequences shall be

[

.X3(n)=1{3,0,2,0, 2]

2.%3(n)=14{1,0,-4, 1,2}

|51

sxke) =426, 53,8, 1)

4.x3(n)= {3,0,-3, -2, 2}

Question Number : 150 Question Id : 342123770 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



The signal flow graph of a causal linear shift invariant filter is given below
i) o——e—>—o—>—6—>—0—>—o—>—0 y[n|

0-9 0-75

0-7
Using the concept of cascade of first and second order systems realized in direct form II, the
expression of H(z) is :

i (1-0-752")

' {ﬂ]_(l—u-az '1-0-32" 077
(1-0-7527")

2 H(s) =

e (1-0-927" (140327 +0.72)
(1+0.757)

3.H(z)=

[1 0.9z ‘)(1 10327 40-72 3)

(I+[]-'f'5;r. ‘)

S [l +0-92‘])(l-0-3z‘] -0-73‘3)





